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lll Semester 3 Year LL.B./VII Semester 5 Year B.A.LL.B./B.B.A.LL.B./
B.Com. LL.B./B.A.LL.B. (Maj.-Min. System) Examination, March/April 2024
(Odd Sem.)

LABOUR LAW
Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q.No.9 and any five of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or in
Kannada Completely.

Q. No. 1. What is ‘Industrial Dispute’ ? Explain the essential requisites
of Industrial Dispute with decided cases. Marks : 16
‘WERENT T’ 0TTE ? B3, eNE TT BT T
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Q. No. 2. Discuss briefly the different authorities set-up for the
investigation and settlement of Industrial disputes. Marks : 16
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Q. No. 3. Explain about partial disablement and total disablement under
Employees Compensation Act. Marks : 16

J980C HOTIT BHACDRTRONY, nd: SRRFFS o
ROTPEDF LADOPFI0DTY, DIOR.

Q. No. 4. Explain constitution, powers and procedure of Employees

Insurance Court. Marks : 16
TDFTT BR TY0IROODT TS, BOTT B T3,050NI=Y
RO,

Q. No. 5. Explain the provisions of Trade Union Act relating to the
immunities available to a Registered Trade union. Marks : 16
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

Briefly explain the provisions relating to ‘Health’ measures

taken under the Factories Act, 1948.
RARFFNY SODHRY, 19480 RS, 'SARTY <0owoRAT
NROTIDRY IT[OR.

Marks : 16

What are the different schemes provided under the

Employees Provident Fund and Miscellaneous Provisions
Act, 1952 ? Marks : 16

IS wom, RO =3y T30 wumwognd sy 19520
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Write short note on any two of the following. Marks : 2x8=16
S FINIJNYY, BeoT ATWE 0TV ¥3369 WBoWD.
(a) Retrenchment
DT INRTONT
(b) Industry
Jplalne
Q
(c) Maternity benefit.
oM WP,

Solve any two of the following problems. Marks : 2x10=20 (
33 FPNIYNTQ, CINPYTITTR ST RTORNTI) WRIOA.

(@) InaIndustry there was continuous unrest leading to strikes
and lockouts. The employer closed down the Industry .
Does this amount to closure ? Give reasons.
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(b) ‘A" a workman died due to an accident while performing
the duty of an employer. Subsequently it had been proved
that at the time of accident the workman was under the
influence of intoxication. Whether employer is liable to pay

compensation ?
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(c) 35women are employed in Akshata Industries. Since only
two women workers were having children below 5 years
of age, the manager of the Industry refuses to provide
creche for the children. Is the refusal correct ?
$TB LY, 35 BonFoY ST BNATITT. ST,
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